..DID: 3297

..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV

COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 15

INITIAL EFFECTIVE DATE: 05/01/98

STAMPS:

Cancelled by Statement NGV Number 16 Effective 06/01/1998

RECEIVED: 04/27/98 STATUS: Cancelled EFFECTIVE: 05/01/98

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1998

Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate- per per G Therm Equiv	Cei al. per	ket Based ling Rate per Gal. Equivlnt		le Natural icle Rate- per Gal. Equivlnt	
Category 1A	\$0.72583	\$0.828	\$0.93468	\$1.066	\$0.78960	\$0.900
Category 1B	\$0.72583	\$0.828	\$1.39072	\$1.586	\$1.15993	\$1.323
Category 1C	\$0.72583	\$0.828	\$0.92419	\$1.054	\$0.82600	\$0.942
Category 2A	\$0.74617	\$0.851	\$0.93468	\$1.066	\$0.80994	\$0.924
Category 2B	\$0.74617	\$0.851	\$1.39072	\$1.586	\$1.18027	\$1.346
Category 2C	\$0.74617	\$0.851	\$0.92419	\$1.054	\$0.84633	\$0.965
W I T	Н	C O M	P R	E S	S I O	и :
Category 3A	\$0.61222	\$0.698	\$0.93468	\$1.066	\$0.92998	\$1.060
Category 3B	\$0.61222	\$0.698	\$1.39072	\$1.586	\$0.99973	\$1.140
Category 3C	\$0.61222	\$0.698	\$0.92419	\$1.054	\$0.89979	\$1.026
W I T H	O U T	С	О М Р	R E	S S I O	и :
Category 3A	\$0.59188	\$0.675	\$0.93468	\$1.066	\$0.90964	\$1.037
Category 3B	\$0.59188	\$0.675	\$1.39072	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.59188	\$0.675	\$0.92419	\$1.054	\$0.87946	\$1.003
Category 4	\$0.74617	\$0.851	\$0.93468	\$1.066	\$0.80994	\$0.924

STATEMENT TYPE: NGV

STATEMENT NO: 15

PAGE: 2

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1998

Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		rket Based iling Rate		le Natural icle Rate-	
	per per Therm Equi	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Q - h 1 7	_				_	do 024
Category 1A	\$0.56875	\$0.649	\$0.96977	\$1.106	\$0.81943	\$0.934
Category 1B	\$0.56875	\$0.649	\$1.39072	\$1.586	\$1.15993	\$1.323
Category 1C	\$0.56875	\$0.649	\$0.88042	\$1.004	\$0.78660	\$0.897
Category 2A	\$0.58906	\$0.672	\$0.96977	\$1.106	\$0.83974	\$0.958
Category 2B	\$0.58906	\$0.672	\$1.39072	\$1.586	\$1.18024	\$1.346
Category 2C	\$0.58906	\$0.672	\$0.88042	\$1.004	\$0.80691	\$0.920
W I T	Н	C O M	I P R	E S	S I O	N :
Category 3A	\$0.50619	\$0.577	\$0.96977	\$1.106	\$0.81119	\$0.925
Category 3B	\$0.50619	\$0.577	\$1.39072	\$1.586	\$0.99971	\$1.140
Category 3C	\$0.50619	\$0.577	\$0.88042	\$1.004	\$0.87435	\$0.997
WIT	H O U T	С	O M P	R E	S S I O	N :
a	*0 40500	*0 554	*0.06077	41 100	*0 5000	*0.000
Category 3A	\$0.48588	\$0.554	\$0.96977	\$1.106	\$0.79088	\$0.902
Category 3B	\$0.48588	\$0.554	\$1.39072	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.48588	\$0.554	\$0.88042	\$1.004	\$0.85404	\$0.974
Category 4	\$0.58906	\$0.672	\$0.96977	\$1.106	\$0.83974	\$0.958
	40.0000	40.0.5	40.202	42.200	40.005.1	40.200

STATEMENT TYPE: NGV

STATEMENT NO: 15

PAGE: 3

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1998

Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate-	Market Based Ceiling Rate	Applicable Natural -Gas Vehicle Rate-	
	per per G Therm Equiv		per per Gal. Therm Equivlnt	
Category 1A	\$0.77057	\$0.879 \$0.98731	\$1.126 \$0.83434	\$0.951
Category 1B	\$0.77057	\$0.879 \$1.39072	\$1.586 \$1.15993	\$1.323
Category 1C	\$0.77057	\$0.879 \$0.86494	\$0.986 \$0.77245	\$0.881
a	#0 F00C0	*** *** *** ****	#1 106 #0 OF 44F	*0 OF4
Category 2A	\$0.79069	\$0.902 \$0.98731	\$1.126 \$0.85447	\$0.974
Category 2B	\$0.79069	\$0.902 \$1.39072	\$1.586 \$1.18006	\$1.346
Category 2C	\$0.79069	\$0.902 \$0.86494	\$0.986 \$0.79257	\$0.904
W I T	Н	C O M P R	E S S I O	n :
Category 3A	\$0.60000	\$0.684 \$0.98731	\$1.126 \$0.91900	\$1.048
Category 3B	\$0.60000	\$0.684 \$1.39072	\$1.586 \$0.99952	\$1.140
Category 3C	\$0.60000	\$0.684 \$0.86494	\$0.986 \$0.86494	\$0.986
W I T H	OUT	C O M P	R E S S I O	N :
Category 3A	\$0.57988	\$0.661 \$0.98731	\$1.126 \$0.89888	\$1.025
Category 3B	\$0.57988	\$0.661 \$1.39072	\$1.586 \$0.97940	\$1.117
Category 3C	\$0.57988	\$0.661 \$0.86494	\$0.986 \$0.86494	\$0.986
Category 4	\$0.79069	\$0.902 \$0.98731	\$1.126 \$0.85447	\$0.974

Status: CANCELLED Effective Date: 05/01/1998

STATEMENT TYPE: NGV

STATEMENT NO: 15 PAGE: 4

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1998

Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

_	Floor Rate-	Market Ceiling		Applicable -Gas Vehic		
	per per (Therm Equiv	Gal. per j	per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.78643		.94345	\$1.076	\$0.79706	\$0.909
Category 1B	\$0.78643	\$0.897 \$1.	.39072	\$1.586	\$1.15993	\$1.323
Category 1C	\$0.78643	\$0.897 \$0.	.82049	\$0.936	\$0.78643	\$0.897
Category 2A	\$0.80655	\$0.920 \$0.	.94345	\$1.076	\$0.81718	\$0.932
Category 2B	\$0.80655	\$0.920 \$1.	.39072	\$1.586	\$1.18006	\$1.346
Category 2C	\$0.80655	\$0.920 \$0.	.82049	\$0.936	\$0.80655	\$0.920
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.60145	\$0.686 \$0.	.94345	\$1.076	\$0.93310	\$1.064
Category 3B	\$0.60145	\$0.686 \$1.	.39072	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.60145	\$0.686 \$0.	.82049	\$0.936	\$0.82049	\$0.936
W I T H	O U T	C O	M P	R E	S S I O	N :
Category 3A	\$0.58133	\$0.663 \$0.	.94345	\$1.076	\$0.91298	\$1.041
Category 3B	\$0.58133	\$0.663 \$1.	.39072	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.58133	\$0.663 \$0.	.82049	\$0.936	\$0.82049	\$0.936
Category 4	\$0.80655	\$0.920 \$0	.94345	\$1.076	\$0.81718	\$0.932

STATEMENT TYPE: NGV

STATEMENT NO: 15

PAGE: 5

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1998

Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei al. per	ket Based ling Rate per Gal. Equivlnt		le Natural icle Rate- per Gal. Equivlnt	
Category 1A	\$0.78643	\$0.897	\$0.98731	\$1.126	\$0.83434	\$0.951
Category 1B	\$0.78643	\$0.897	\$1.39072	\$1.586	\$1.15993	\$1.323
Category 1C	\$0.78643	\$0.897	\$0.87975	\$1.003	\$0.78643	\$0.897
Category 2A	\$0.80655	\$0.920	\$0.98731	\$1.126	\$0.85447	\$0.974
Category 2B	\$0.80655	\$0.920	\$1.39072	\$1.586	\$1.18006	\$1.346
Category 2C	\$0.80655	\$0.920	\$0.87975	\$1.003	\$0.80655	\$0.920
W I T	Н	C O M	P R	E S	S I O	и :
Category 3A	\$0.60145	\$0.686	\$0.98731	\$1.126	\$0.92099	\$1.050
Category 3B	\$0.60145	\$0.686	\$1.39072	\$1.586	\$0.92219	\$1.052
Category 3C	\$0.60145	\$0.686	\$0.87975	\$1.003	\$0.87975	\$1.003
W I T	H O U T	С	О М Р	R E	S S I O	N :
Category 3A	\$0.58133	\$0.663	\$0.98731	\$1.126	\$0.90087	\$1.027
Category 3B	\$0.58133	\$0.663	\$1.39072	\$1.586	\$0.90207	\$1.029
Category 3C	\$0.58133	\$0.663	\$0.87975	\$1.003	\$0.87975	\$1.003
Category 4	\$0.80655	\$0.920	\$0.98731	\$1.126	\$0.85447	\$0.974

STATEMENT TYPE: NGV

STATEMENT NO: 15

PAGE: 6

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1998

Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate-		ket Based ling Rate		le Natural icle Rate-	
	per per (Therm Equiv		per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.63550	\$0.725	\$0.96977	\$1.106	\$0.81943	\$0.934
Category 1B	\$0.63550	\$0.725	\$1.39072	\$1.586	\$1.15993	\$1.323
Category 1C	\$0.63550	\$0.725	\$0.88042	\$1.004	\$0.78660	\$0.897
Category 2A	\$0.65562	\$0.748	\$0.96977	\$1.106	\$0.83955	\$0.957
Category 2B	\$0.65562	\$0.748	\$1.39072	\$1.586	\$1.18006	\$1.346
Category 2C	\$0.65562	\$0.748	\$0.88042	\$1.004	\$0.80672	\$0.920
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.45934	\$0.524	\$0.96977	\$1.106	\$0.95796	\$1.092
Category 3B	\$0.45934	\$0.524	\$1.39072	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.45934	\$0.524	\$0.88042	\$1.004	\$0.88042	\$1.004
W I T H	O U T	С	O M P	R E	S S I O	и :
Category 3A	\$0.43922	\$0.501	\$0.96977	\$1.106	\$0.93784	\$1.069
Category 3B	\$0.43922	\$0.501	\$1.39072	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.43922	\$0.501	\$0.88042	\$1.004	\$0.88042	\$1.004
Category 4	\$0.65562	\$0.748	\$0.96977	\$1.106	\$0.83955	\$0.957